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GCE A Level Sociology Component 3 A200U30-1

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 1558 10.7 5.1 20 53.7 97.1
1b 402 22.4 8.3 40 56.1 25.1
1c 1186 20.6 9 40 51.6 73.9
2a 1450 11.6 5 20 58.1 90.3
2b 608 22.2 8.9 40 55.6 37.9
2c 857 20.3 8.9 40 50.7 53.4
3a 7 16.6 3.4 20 82.9 0.4
3b 6 26.2 10.3 40 65.4 0.4
3c 1 16 40 40 0.1
4a 9 7.9 3.2 20 39.4 0.6
4b 1 9 40 22.5 0.1
4c 8 21.8 12.3 40 54.4 0.5
5a 105 11.2 3.9 20 55.8 6.5
5b 75 25.9 9.6 40 64.7 4.7
5c 30 22.1 10.3 40 55.3 1.9
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Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer
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Option 1 Crime and Deviance

2, (a) The percentage of black and ethnic minorities in prison is disproportionate to
the numbers in the population as a whole. Explain sociological evidence that
supports this view. [20]
This question requires an explanation of a sociological view. The view should be
identified and there should be detailed accurate points of knowledge for AO1 band 4.
There should be a good coverage of sociological language and reference be made to
at least two writers/evidence. For AO2 band 4 the points made should be explained
in the context of the question.
Indicative content
e racism — Ball, Bowcott and Rogers.
¢ Institute for Criminal Policy Research — Hough.
e canteen culture — Holdaway.
e stop and search.
e work of Hall — policing the crisis.
e over- policing in areas where BME people live — Phillips and Bowling.
e any other relevant point.
Band AO1 AO2
elements 1a & 1b element 1a
10-12 marks 7-8 marks
Answers demonstrate detailed Answers demonstrate a detailed ability
4 knowledge and understanding of to select, apply and interpret appropriate
sociological theories/concepts/ evidence | sociological theories/ concepts/evidence
relating to the context of the in the context of the debate/question
debate/question
7-9 marks 5-6 marks
Answers demonstrate some knowledge | Answers demonstrate some ability to
3 and understanding of sociological theo- | select, apply and interpret appropriate
ries/concepts/ evidence relating to the sociological theories/concepts/ evidence
context of the debate/question in the context of the debate/ question
4-6 marks 3-4 marks
Answers demonstrate basic knowledge | Answers demonstrate a basic ability to
2 and understanding of sociological theo- | select, apply and interpret appropriate
ries/concepts/ evidence relating to the sociological theories/concepts/ evidence
context of the debate/question in the context of the debate/ question
1-3 marks 1-2 marks
Answers demonstrate limited knowledge | Answers demonstrate limited ability to
1 and understanding of sociological select and/or interpret and/ or apply

theories/concepts/ evidence relating to
the context of the debate/question

sociological theories/concepts/ evidence
in the context of the debate/ question.

0 marks
NRSP

0 marks
NRSP
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(b) Evaluate subcultural explanations of crime and deviance. [40]

Answers will make judgements of the sociological concept, theory or sociological
debate. The answer will focus on the debate in the question. Credit will be given to
the effective use of supporting sociological evidence/theories and concepts. Where
answers demonstrate all abilities to the highest standard then they will be consistent
with Band 4. Answers demonstrating knowledge but fewer skills of assessment,
judgement and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

¢ Answers should demonstrate an understanding of subcultural explanations.
e Explanations may include functionalist subcultural theorists, Marxist subcultural
theorists and postmodernists.

Expect to see some of the following:

e detailed exposition of functionalism and subcultures including the work of

Cohen and delinquent subculture.

Cloward and Ohlin — delinquency and opportunity.

Miller and focal concerns.

evaluation using Matza’s drift theory.

Winlow and his work of badfellas.

interactionism and subcultures including the work of Cicourel and labelling.

Marxist/neo-Marxist subcultural explanations:

work of the CCCS including writers such as Cohen, Hebdige, Willis and Brake.

New right including the work of Murray on the underclass as a subcultural

explanation of crime and deviance.

e expect to see evaluation of one sub-cultural explanation with other subcultural
explanations.

o expect to see reference to the work of Thornton and other postmodernists as
evaluation.

e any other relevant point.

¢ reference should be made to relevant and recent political, social or public debate.

© WJEC CBAC Ltd.





Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/evidence
relating to the context of
the debate/question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence. These are
applied and interpreted in
the context of the
debate/question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

8-11 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/question

8-11 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/ concepts/
evidence, some of which
are applied and

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant theories/

Answers demonstrate
basic knowledge and

2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/ concepts/
evidence in the context of
the debate/ question

interpreted in the context | concepts/evidence
of the debate/question examined
4-7 marks 4-7 marks 4-6 marks

Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
understanding of
1 sociological theories/
concepts/evidence
relating to the context of
the debate/question

1-3 marks
Answers demonstrate
limited ability to select
and/or interpret and/or
apply sociological
theories/
concepts/evidence in the
context of the debate/
question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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(c) Assess the view that gender is a major factor influencing crime and deviance.
[40]

Answers will make judgements of the sociological concept, theory or sociological
debate. The answer will focus on the debate in the question. Credit will be given to
the effective use of supporting sociological evidence/theories and concepts. Where
answers demonstrate all abilities to the highest standard then they will be consistent
with Band 4. Answers demonstrating knowledge but fewer skills of assessment,
judgement and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

o there should be a clear understanding of gender as a major factor influencing
crime and deviance.
there should be consideration of males and females.

o there should be reference to the importance of not ‘lumping’ all women or all men
together.

- there will be reference to a range of feminist theories.

- reference to the work of Pollak, Allen and Farrington and Morris.

- critique of the chivalry thesis by Heidensohn.

- women’s liberation and the rise of female involvement in crime and deviance
linked to the work of Adler.

- reference to the work of Smart and the notion of a double standard. Woman as
doubly deviant. Supported by the work of Carlen.

- the work of Walklate on women who have been raped.

- rise of ladette culture linked to the work of Denscombe.

- changing masculinities linked to the work of Messerschmidt.

- the work of Heidensohn and the notion of patriarchal control may be used.

- edgework and the writers Katz, Lyng.

- Nightingale

- Jackson-Jacobs

- domestic violence and the work of Walklate and of Sclater.

- evaluation may come from statistical evidence re social class and also ethnicity.
- feminist critique of chivalry thesis as described by Pollak.

- Marxist critique re class.

- critique by Hall regarding the influence of ethnicity on crime and deviance.

- any other relevant point.

o Reference should be made to recent political, social or public debate regarding
gender issues in relation to crime and deviance.

10
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3)
12-14 marks 12-14 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and detailed, accurate and detailed, well organised
understanding of relevant selection of and logical arguments.

4 sociological theories/ appropriate sociological Logical judgements and
concepts/evidence theories/concepts/ conclusions will be
relating to the context of | evidence. These are offered based on explicit
the debate/question applied and interpreted in | evaluation of the relevant

the context of the debate/ | theories/concepts/
question evidence examined
8-11 marks 8-11 marks 7-9 marks
Answers demonstrate Answers demonstrate Answers demonstrate
some knowledge and some accurate and some, well organised and
understanding of relevant selection of logical arguments.

3 sociological theories/ appropriate sociological Judgements and
concepts/evidence theories/ concepts/ conclusions offered will
relating to the context of | evidence, some of which | show some evaluation of
the debate/question are applied and the relevant theories/

interpreted in the context | concepts/evidence
of the debate/question examined
4-7 marks 4-7 marks 4-6 marks
Answers demonstrate Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, basic arguments.

2 understanding of apply and interpret Judgements and
sociological theories/ appropriate sociological conclusions offered will
concepts/evidence theories/ concepts/ show basic evaluation of
relating to the context of | evidence in the context of | the theories/concepts/
the debate/question the debate/ question evidence examined

1-3 marks 1-3 marks 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any

1 understanding of and/or interpret and/or judgements and

sociological theories/
concepts/evidence
relating to the context of
the debate/question

apply sociological
theories/ concepts/e
evidence in the context of
the debate/ question

conclusions offered will
show limited evaluation
of any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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Sticky Note

A second relevant point with some explanation using the example of Stephen Lawrence. It would have been helpful if racism per se had been defined more explicitly.



Sticky Note

A relevant point supported by a sociologist. 
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Sticky Note

Another point which needs development.



Sticky Note

Needs more detail and evidence to go to the MB 4
AO1 = 9
AO2 = 6 
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Sticky Note

The above essay is very generalised . There is a lack of names to support the points being made. some is implicit. For example Jackson's research is implicitly refered to on P8.
Lincoln's research could have been used at the top of P9.
Give this to students as a class exercise and ask them to work in pairs/groups to increase the marks from basic to MB4
AO1 = 5
AO2 = 5
AO3 = 5
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Sticky Note

A relevant paragraph with some detail. Supported by the work of Cohen.



Sticky Note

Evaluation with a relevant name attached.
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Sticky Note

A tenuous example.



Sticky Note

Brief description of the work of C and O.




Sticky Note

Generalised evaluation.




Sticky Note

Again descriptive of a relevant sociologist.
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Sticky Note

Not a subcultural theorist.
Subcultural theorists used his work but he himself was not one.
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Basic - MB2

AO1 = 7
AO2 = 6
AO3 = 6
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Sticky Note

There is some detail in the above essay 
AO1 = 9
The candidate does something with what they know but could have done more 
AO2 = 8
Some evaluation 
AO3 = 8
Ask students to compare this essay with F and then work on them both to improve the mark. 
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Section B

Option 1 Crime and Deviance

Compulsory question

2. (a) The percentage of black and ethnic minorities in prison is disproportionate to the numbers
in the population as a whole. Explain sociological evidence that supports this view. [20]

Either,
(b) Evaluate subcultural explanations of crime and deviance. [40]
Or,

(c) Assess the view that gender is a major factor influencing crime and deviance. [40]
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EDUQAS A LEVEL SOCIOLOGY - COMPONENT 3
POWER AND STRATIFICATION

SUMMER 2019 MARK SCHEME

Section A
1. (a) Identify evidence of age inequalities in two areas of social life in the
contemporary UK. lllustrate your answer with reference to supporting
evidence for each area identified [20]

Answers should identify two areas of social life. For both areas answers should use
appropriate evidence; official statistics and sociological research. The evidence cited
should clearly demonstrate the inequality in the question. The AO2 marks will reflect
selection of appropriate evidence.

For band 4 AO1 there should be more than one piece of evidence cited for each area
identified.

Indicative content

Reference may be made to the following in one or more of the areas:

¢ there should be a recognition that it is not possible to ‘lump’ all the young together
or all the elderly — the work of Milne and of Pilcher could be used.
work of postmodernists on age grouping — Hepworth and Featherstone.
life chances according to age — linked to Weberian/neo-Weberian explanations.
differential treatment by age and experiences of males and females linked to the
work of Gannon.
there may be some age related statistics.
there may be reference to the disengagement of the elderly linked to the work of
Cumming and Henry.

Areas of social life that may be highlighted include:
e Economic inequalities:
o differences between age groups and within age groups.
cultural differences — Marsh and Keating.
incomes — research of Belfield et al.
JRF research on young people and on the elderly.
poverty in old age — Age UK.
child poverty — CPAG.

o Work:
e some age groups concentrated in low paid work. Link to Weberian/neo-
Weberian explanations and the dual labour market.
¢ Marxist/neo-Marxist explanations of access to employment linked to the
concept of the reserve army of labour.
e access to employment — McQuaid et al, IPPR Report on youth unemployment

¢ Families and households:

unpaid labour of households.

care of the elderly.

rights and obligations of different generations.
reference to the work of Vincent.
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Expect to see other areas of social life being used such as crime and deviance,

politics and/or the media.

o Reference may be made to relevant and recent political, social or public debate

regarding issues related to age inequalities

e Any other relevant point.

Band AO1 AO2
elements 1a & 1b element 1a
12-14 marks 6 marks
Answers demonstrate detailed Answers demonstrate accurate
knowledge and understanding and relevant selection of
4 of sociological theories/ appropriate sociological
concepts/evidence relating to theories/concepts/ evidence.
the context of the debate/ These are applied and
question interpreted in the context of the
debate/question
8-11 marks 4-5 marks
Answers demonstrate some Answers demonstrate some
knowledge and understanding accurate and relevant selection
3 of sociological theories/ of appropriate sociological
concepts/ evidence relating to theories/concepts/ evidence,
the context of the debate/ some of which are applied and
question interpreted in the context of the
debate/question
4-7 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic
knowledge and understanding ability to select, apply and
2 of sociological theories/ interpret appropriate
concepts/ evidence relating to sociological theories/concepts/
the context of the debate/ evidence in the context of the
question debate/question
1-3 marks 1 mark
Answers demonstrate limited Answers demonstrate limited
knowledge and understanding ability to select and/or interpret
1 of sociological theories/ and/ or apply sociological
concepts/ evidence relating to theories/concepts/ evidence in
the context of the debate/ the context of the debate/
question question
0 marks 0 marks
NRSP NRSP
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(b) Evaluate Weberian explanations of social inequality. [40]

Answers will make judgements of the sociological concept, theory or sociological
debate. The answer will focus on the debate in the question. Credit will be given to
the effective use of supporting sociological evidence/theories and concepts. Where
answers demonstrate all abilities to the highest standard then they will be consistent
with Band 4. Answers demonstrating knowledge but fewer skills of assessment,
judgement and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

o Expect to see evaluation of Weberian explanations of social inequality.
o Expect reference to neo-Weberian explanations.

Expect to see some of the following:

detailed exposition of Weberian explanations of power — class, status and party.
¢ notion that power is distributed between a range of groups in society.
the notion of the fragmentation of power linked to the number of social classes
linked to the work of Goldthorpe.
e opportunities via education and employment to improve life chances.
the critique of Marxist economic analysis by Weber and Weberians.
neo-Weberian explanations including inequality between different ethnic groups
linked to the work of Rex and Tomlinson.
black underclass linked to the work of Rex and Tomlinson.
primary and secondary labour markets - Barron and Norris.
vertical and horizontal segregation, the glass and the concrete ceiling.
there may be reference to the work of Giddens.

evaluation might be linked to postmodernism and the notion of fragmentation.
difficult to measure status. Ideas of what determines status differs from person to
person and group to group.

Weberian analysis of class and ethnicity are problematic.

identities are not always fragmentary as people may identify with specific small
groups such as being Scottish or being Polish.

e people may belong to a range of different status groups in relation to different
aspects of their lives.

more realistic view of society than say that of Marx.

Weberian explanations of social inequality are not specifically helpful re gender.

e any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/ evidence
relating to the context of
the debate/question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence. These are
applied and interpreted in
the context of the debate/
question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

8-11 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/question

8-11 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence, some of which
are applied and
interpreted in the context
of the debate/question

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant theories/
concepts/ evidence
examined

4-7 marks
Answers demonstrate
basic knowledge and
2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

4-7 marks
Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/ concepts/
evidence in the context of
the debate/ question

4-6 marks
Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
1 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

1-3 marks
Answers demonstrate
limited ability to select
and/or interpret and/or
apply sociological
theories/ concepts/
evidence in the context of
the debate/ question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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(c) Assess the view that social inequality is functional for society and individuals.
[40]

Answers will make judgements of the sociological concept, theory, or sociological
debate. The answer will focus on the debate in the question. Credit will be given to
the effective use of supporting sociological evidence/theories and concepts. Where
answers demonstrate all abilities to the highest standard then they will be consistent
with Band 4. Answers demonstrating knowledge but fewer skills of assessment,
judgement and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AQ3.

Indicative content

e Expect to see a detailed assessment of the view that social inequality is
functional for society as well as for the individual.

e Durkheim and the need to maintain order via a social consensus re norms and
values.

¢ Parsons and the value to society of socialising people into a value consensus
including the recognition of the need for inequality.

e inequality exists in all societies, according to writers such as Davis and Moore,
and therefore it must be functional for both society and the individuals within
society.

o the need for differential rewards in order to ensure people do the jobs they are
best suited for.

e social inequality ensures the most important jobs are filled and those filling the
jobs are appropriately rewarded.
detailed reference to meritocracy linked to the work of Davis and Moore.
reference to social Darwinism.

critique of Parsons by Merton linked to the idea of dysfunction.
functionalism is a somewhat circular argument — inequality exists therefore it
must be good.

e critique of Davis and Moore by Tumin — neither functional for society or the
individual.

e critique of Davis and Moore who don’t see the conflict caused by inequality linked
to Marxism.

o critique by postmodernists who argue it is a metanarrative and cannot explain the
fragmentary nature of 215t century society.

¢ feminists argue it does not take account of gender, not functional for society or
the individual.

e any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
12-14 marks 12-14 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/evidence
relating to the context of
the debate/question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence. These are
applied and interpreted in
the context of the debate/
question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

8-11 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/question

8-11 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence, some of which
are applied and
interpreted in the context
of the debate/ question

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant
theories/concepts/evidenc
e examined

4-7 marks
Answers demonstrate
basic knowledge and
2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

4-7 marks
Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/concepts/
evidence in the context of
the debate/question

4-6 marks
Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
1 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

1-3 marks
Answers demonstrate
limited ability to select
and/or interpret and/ or
apply sociological
theories/ concepts/
evidence in the context of
the debate/ question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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Sticky Note

A rather basic summary of Weber and Weberianism.
These 40 mark essays need breadth and depth in order to be placed in the top mark bands.



Sticky Note

Tautological



Sticky Note

In need of names, evidence.
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Sticky Note

Not necessarily - in need of development.



Sticky Note

Needs evidence/names to support this claim.



Sticky Note

Basic knowledge and understanding- 
There is a need for names/evidence which are relevant and accurate.
Evaluation is limited.
AO1 = 4
AO2 = 4
AO3 = 3
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Sticky Note

The candidate has immediately identified an are of social life. Too many candidates waste time on long preambles. (see E)
 



Sticky Note

The question directs candidates to illustrate their answer with reference to supporting evidence. This candidate has used the work of a relevant sociologist to illustrate the point they are making.



Sticky Note

This is a second point re age inequality in the workplace with a relevant and accurate reference.



Sticky Note

By using a phrase such as 'This is an inequality it signifies to the examiner that the candidate is still focused on the question whilst at the same time ensuring for the candidate themselves that they stay focused. 



Sticky Note

Both pieces of evidence in this area are detailed.



Sticky Note

The candidate does exactly what they did with work they identify the area and make a point of inequality.



Sticky Note

Candidates need to be careful whenever they use statistics. Here the ONS is referred to. 
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Sticky Note

Another useful point of inequality.



Sticky Note

Rather vague statistic though the point is well made.



Sticky Note

Two areas clearly identified. The first is better than the second but there are enough points and evidence/examples to be placed in the top MBs for both AOs
AO1 = 14, AO2 = 6.  
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Sticky Note

This question instructs candidates to assess the view that social inequality is functional for society and individuals. A significant number of candidates considered one or the other.



Sticky Note

A relevant sociologist. these essays need to have claims that are supported by sociologists or other evidence. 



Sticky Note

Some analysis and interpretation here.



Sticky Note

This evaluation needs to to be developed. And a name/s would be useful.



Sticky Note

Useful evaluative point.



Sticky Note

Needs to explain how



Sticky Note

Some focus on the specifics of the question in need of development.
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Sticky Note

Rather vague. 



Sticky Note

Evaluation by juxtaposition. Evaluation needs to be sustained throughout the essay rather than added on.



Sticky Note

Needs a name.



Sticky Note

Again evidence is needed to support this claim/assertion. 
See point above. These are A2 essays and candidates should understand the importance of supporting their claims with evidence.



Sticky Note

Some focus on the specifics of the question.





Write the two digit question
number inside the boxes next Answer
to the first line of your answer

_£M Lﬂﬂum_\omrgggsﬁ Ao ua U

Nowe o low  morker  Positon. Trus

OMOLS e ruduunQ cxcx\sss o SLUULe The

higheSy Do&mm& ,,DY) Tham S Aves mv\xU’\ dmi&s

tI\JQ )(\MO Of umm (‘fDDC/Y”GLN‘KU Tha

Dfoiekanodc me H\u\ P(‘xud Jm»cv\ \M(mmmec

hn’cYuun e 10% MoUeex oS Hum QG r\o%'

hOowe he (*mﬁomu\u\\ﬁ m NoE mohr\u
QOSHHONS.. Thus wmm*’“ﬁxgmmmes 4D Yo

l[-&U\C;hQ/\OUL ,pcw ha rulu\(} CJOLs Qs H\m
_Lm_mam‘sm 5283 S.u;d—(m OF MOoUegk

' ooqu FUNCTHONOALSKS mouxci cxm\m ok

Hruzm 1S QﬁquL (\nnorhu\rxu loupt(’x,u

jobs /DO&(JC‘)OM 0 g&oucx\i ne00 4o be Hued
1‘:@ hoU\) NQY uve;tg g’«mmm,

4 - SUgRSt Souod A00 QUodY

S I:LU\ onodk 8 ik SRPOSOXES  Thho

o\ﬁ&@(\nr\g NGk .u\de&emur\o. poor . Munmj
e MAQ&RMLW__ ]
il %@LMMWf
Inequodung. — He SUQORSHS %hmtSOmemmu

J’
1S dui 0 m?mrrw& MU\O \Q:U«A O\I\d

_Mréﬁ;@a_w Stof M WWHQO{ tn ANns

0S8 the unotm(a&g and M they
mfma hoxo to eoun g Lowving rmm |

Ao Not - expomente &0 Uok mQanb[ztu

Howearer, e JC\r\gu e U H’)mmx O”r\-H\k

Stodl H(\(OULQI’\ Mmjhfs i'h@kj aLsSent thb

S0 o I Jj;qgn/vne,r\&

vvv

TY\,LB (Q\’\OA ‘0(‘ lf\QﬁlA{C\l&lxﬂﬂ RDAI\S
fmr\LhOr\ml oS JV,L U0 SR O AhR

thc ond  woyk Y\Our\’()\ UCW J\A/\U, l‘ni’\()uUM

Lose  xche  Soucold U’\QOM(ULI\&S \Snuer\j [AOAY

6 (R0
8706



Sticky Note

Again focused on the specifics of the question but no evidence.



Sticky Note

Relevant writer
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Sticky Note

There are some relevant and accurate names. and the candidate has done quite a lot in relation to the specifics of the question with what they know.
Some evaluation, some by juxtaposition.
MB for all three AOs 
AO1 = 11
AO2 = 11
AO3 = 9
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Sticky Note

A general introduction not linked to the specifics of the question.
An introduction sets the tone of an essay and should be focused on the question.
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Sticky Note

Relevant sociologist.



Sticky Note

Basic explanation.



Sticky Note

The point could have been more explicit re the specifics of the question.



Sticky Note

Ball is a relevant sociologist in terms of this question but the link needs to be more explicit.





Write the two di
number inside

git question
the boxes next Answer

to the first line of your answer

A faudr ttass Throdgnoed Sl st 0F fuerr CRes. L
| ihie Acncromsts wove oyt e fs |
A proass (5 bernbC Al (n s ey Goued S Prre, |
d Mrowgu [T best Stneltnts criotenc  ShoeedsS |
d rucd (f 1S hOF  bereticia) R linose Sructeass

J PlAcd (0 (ower SIS ano Clrasiciiuy drecss |
d fnwsce Clanena. Orerecud.  Sociqs raggvaditres |

J txperliencd] by fru WOraddy (LaSS O re nor benetices |

d Worain, classes  Suclss ancd (inid't taers cives. |
d s canfl _be  Shown s pectnt reSecrca. reveeesy |
| e 7[1[119’ A7 pr £
| Svun o yn o tewee nere e O vy AGSS  GalAgve |

4 n misr careqe. 3
A VDOriin SReOCSES,  fp g e O F7ClS E

M anTS! feovaSES. aS [t A rgic frrew Sccocds
Jleass (s not osweays tuact ol t7 S sprmerae |
A Or Wil Soded 00Sifron, ANt Sfued L F /S
S MUC 0 re Comp Lo DAl pelitire  Sron proelaciat T |
dand  bocpeqge .
d  Th relatien S Few Beciedd snep s fres |
d Opers enae! by Weawa. Atw rrgns  fueoriscs
1 wirimotr  and GOeny argeect rred womon

NS S (nq serf Pl Fiiiny prop b by and musirednr |

0 Society, as rFhese [meguat/ties  puiniticr Fece |

A W bl fo Progress o a fdgher Pesi /700 |

2 JLM(/;/J’L{}%/J@_ S, e FUCE AL sl O

- Aamily —anct Coing Avudstacria, L4l s sr et ey
Lo o g an s085rfree mente s e lc /qu‘/}a iorar s
_.ﬁﬁoi_é{éﬁ'zgz,_Liﬂ,fL.M-,,Mz_at Cr lqboyrodeS NOr&

Lep (55, e rece, AU b ny  fU bty (ot o Ly

CSTCHL7 M/ rovicuy  Fr fluic faavly,. /e

ALyl The 0r§ES  Are ol argoe  fered [URGUEI (708

kptr (0 o mongSt Aoun /s otde Fo Fudr

Netre, Py Ape AL ety better (B ldty et .

: LI
8706

Leave
blank




Sticky Note

Focused on the question but needs evidence.



Sticky Note

Rather vague. Candidates should avoid 
evidence shows, research shows, statistics show and so on. This approach is basic and will not enable the candidate to access the higher mark bands.



Sticky Note

Needs to be linked to the specifics of the question.
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Sticky Note

some imprecision in this paragraph and very dated reference in the last sentence.



Sticky Note

This is a relevant point but needs to be supported by evidence from sociologists.



Sticky Note

Generalised assertion.





Write the two digit question -ﬁ
number inside the boxes next Answer blank

to the first line of your answer

Y 4
_7@m/mjm 2V NAS féfa;,/‘epms‘e Jab MSHMCAQILFFL’L¥,,_,7_
| /LA ot Spcle/ g 704/0(,/,“7‘7’ es ,{x,a.(_fgz@czdﬁézy__l./ih_nic;ix
WO el iy wWenpn 15 not Faunctiencd fo Societe

4 and nsteced ALV 1eAle QO ety Qap! Ségpmpmperonte <

d cAienmtes efhnic minorr t7es L inen AirfAws frevy
/71,(/"/ Whike quunfeiparss. 72ds coern b€ Stiown ‘a
e A WSf> ¢ cUlEtrenes betfeven X KXO7OCAS
dwnrite ovetneon o frewc aee’ Co r of re g8 ro frws

AdVnS ¢ r iofec Ci N AU oS r O oS 74‘7;”(1/\14/

i ‘v—"é--——-_-'_'l""_f pRlm -7_—55—;’-::? 740Q_M14£€ LS ANE e

d affrecrrecd, D287 blocci ho 7vun Gre CFrec v o

Ly conthlissi'on. [f /S gL ety a4 reces

/@a‘ amc sy Socl ey [fTies Syl ds [ret Ve (7es

A Cre NYS  ARUNUTIONS s FoClCly, anl! s/asiei oF

_7@m% Gad AVICU ool IO S eb o~ (/S
A s [35ies by il G ,_QQSLMW r,. anacs

(L UndiCitny MY UAl 58 Gorv comproviey /#

A Clntempernny, Brotarn, fies cre SFE (0D Fre(Las

dan c/ Cideprs sy S5elsS 0 cr Socl ety

; IO
8708



Sticky Note

Basic 
AO1 in need of more accurate evidence/names/writers/research.
A tendency therefore to be assertive  = 7 
AO2 = 6
AO3 = 5



Sticky Note

Vague.
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Sticky Note

Unnecessary use of time. Better to start with the second paragraph.



Sticky Note

No evidence to support this claim.
All points re inequality should be supported with evidence.



Sticky Note

An assertion.  



Sticky Note

The candidate clearly identifies a relevant point and knows a study but needs to give a better citation. 



Sticky Note

The candidate is making a conjecture. It is essential to provide evidence to support any claims made. 



Sticky Note

A second area clearly identified.
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Sticky Note

Sweeping generalisation based on no evidence



Sticky Note

Gilroy did not say this about all young people.



Sticky Note

Two areas clearly identified but lacks evidence. A number of sweeping generalisations and assertions.
This is basic
AO1 = 7 AO2 = 3.
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Sticky Note

Relevant sociologist.



Sticky Note

Relevant concept. This is an A2 paper and as such candidates are expected to use relevant
and accurate concepts in terms of the specifics of the question.



Sticky Note

A second reference to relevant evidence which has been developed.



Sticky Note

Not necessarily. Candidates need to be careful with throwaway assertions such as this.



Sticky Note

Although dated the point is still relevant.



Sticky Note

A link between two aspects of Weber's theory.



Sticky Note

Some useful detail. 
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Sticky Note

Implicit reference to party. This could have been developed with contemporary evidence.



Sticky Note

A useful and relevant paragraph using the work of Weberians Barron and Norris.
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Sticky Note

A conclusion which does sum up the arguments being made.



Sticky Note

AO 1= 11
AO2 = 12
AO3 = 9










Answer Section A and one option from Section B.
Section A

Compulsory question

1. (a) Identify evidence of age inequalities in two areas of social life in the contemporary UK.
lllustrate your answer with reference to supporting evidence for each area identified.[20]

Either,

(b) Evaluate Weberian explanations of social inequality. [40]
Or,

(c) Assess the view that social inequality is functional for society and individuals. [40]















































































































































